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Zhofrph
Wklv lv dq h{shulphqw derxw ghflvlrq pdnlqj1 \rx zloo eh sdlg iru sduwlflsdw0

lqj/ dqg wkh dprxqw ri prqh| |rx zloo hduq ghshqgv rq wkh ghflvlrqv wkdw |rx
dqg wkh rwkhu sduwlflsdqwv pdnh1 Li |rx pdnh jrrg ghflvlrqv |rx vwdqg wr hduq d
frqvlghudeoh dprxqw ri prqh|1 Wkh hqwluh h{shulphqw vkrxog eh frpsohwh zlwklq
dq krxu1 Dw wkh hqg ri wkh h{shulphqw |rx zloo eh sdlg sulydwho| dqg lq fdvk iru
|rxu ghflvlrqv1 D uhvhdufk irxqgdwlrq kdv surylghg wkh ixqgv iru wklv h{shulphqw1

\rxu Lghqwlw|
\rx zloo qhyhu eh dvnhg wr uhyhdo |rxu lghqwlw| wr dq|rqh gxulqj wkh frxuvh

ri wkh h{shulphqw1 \rxu qdph zloo qhyhu eh uhfrughg e| dq|rqh1 Qhlwkhu wkh
h{shulphqwhuv qru wkh rwkhu vxemhfwv zloo eh deoh wr olqn |rx wr dq| ri |rxu
ghflvlrqv1 Lq rughu wr nhhs |rxu ghflvlrqv sulydwh/ sohdvh gr qrw uhyhdo |rxu fkrlfhv
wr dq| rwkhu sduwlflsdqw1

Fodlp Fkhfn
Dw wkh wrs ri wklv sdjh lv d qxpehu rq d |hoorz slhfh ri sdshu1 Wklv lv |rxu

Fodlp Fkhfn1 Hdfk sduwlflsdqw kdv d gl�huhqw qxpehu1 \rx pd| zdqw wr yhuli|
wkdw wkh qxpehu rq |rxu Fodlp Fkhfn lv wkh vdph dv wkh qxpehu rq wkh wrs ri
sdjh 91

\rx zloo suhvhqw |rxu Fodlp Fkhfn wr dq dvvlvwdqw dw wkh hqg ri wkh h{shulphqw
wr uhfhlyh |rxu fdvk sd|phqw1

Sohdvh uhpryh |rxu fodlp fkhfn qrz dqg sxw lw lq d vdih sodfh1
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WKLV H[SHULPHQW�SDUW D

Wklv h{shulphqw zloo kdyh wzr sduwv1 Lq wklv sduw/ |rx duh dvnhg wr pdnh d
vhulhv ri fkrlfhv derxw krz wr glylgh d vhw ri wrnhqv ehwzhhq |rxuvhoi dqg rqh
rwkhu vxemhfw lq wkh urrp1 \rx dqg wkh rwkhu vxemhfw zloo eh sdluhg udqgrpo|
dqg |rx zloo qrw eh wrog hdfk rwkhu*v lghqwlw|1

Dv |rx glylgh wkh wrnhqv/ |rx dqg wkh rwkhu vxemhfw zloo hdfk hduq srlqwv1
Hyhu| srlqw wkdw vxemhfwv hduq zloo eh zruwk 43 fhqwv1 Iru h{dpsoh/ li |rx hduq
8; srlqwv |rx zloo pdnh '81;3 lq wkh h{shulphqw1

Hdfk fkrlfh |rx pdnh lv vlplodu wr wkh iroorzlqj=
H{dpsoh= Glylgh 83 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 5 srlqwv
hdfk1

Lq wklv fkrlfh |rx pxvw glylgh 83 wrnhqv1 \rx fdq nhhs doo wkh wrnhqv/ nhhs
vrph dqg sdvv vrph/ ru sdvv doo wkh wrnhqv1 Lq wklv h{dpsoh/ |rx zloo uhfhlyh 4
srlqw iru hyhu| wrnhq |rx krog/ dqg wkh rwkhu sod|hu zloo uhfhlyh 5 srlqwv iru hyhu|
wrnhq |rx sdvv1 Iru h{dpsoh/ li |rx krog 83 dqg sdvv 3 wrnhqv/ |rx zloo uhfhlyh
83 srlqwv/ ru Df� mf��f ' mD�ff/ dqg wkh rwkhu sod|hu zloo uhfhlyh qr srlqwv dqg
'31 Li |rx krog 3 wrnhqv dqg sdvv 83/ |rx zloo uhfhlyh '3 dqg wkh rwkhu sod|hu zloo
uhfhlyh Df� 2 ' �ff srlqwv/ ru �ff� mf��f ' m�f�ff1 Krzhyhu/ |rx frxog fkrrvh
dq| qxpehu ehwzhhq 3 dqg 83 wr krog1 Iru lqvwdqfh/ |rx frxog fkrrvh wr krog 5<
wrnhqv dqg sdvv 541 Lq wklv fdvh |rx zrxog hduq 5< srlqwv/ ru 2b� mf��f ' m2�bf/
dqg wkh rwkhu vxemhfw zrxog uhfhlyh 2��2 ' e2 srlqwv/ wkdw lv e2�mf��f ' me�2f1

Khuh lv dqrwkhu h{dpsoh=
H{dpsoh=Glylgh 73 wrnhqv= Krog C 6 srlqwv hdfk/ dqg Sdvv C 4 srlqw
hdfk1

Lq wklv h{dpsoh hyhu| wrnhq |rx krog hduqv |rx 6 srlqwv/ dqg hyhu| wrnhq |rx
sdvv hduqv wkh rwkhu vxemhfw 4 srlqw1 Djdlq/ hdfk srlqw |rx hduq lv zruwk '3143 wr
|rx/ dqg hdfk srlqw wkh rwkhu vxemhfw hduqv lv zruwk '3143 wr wkh rwkhu vxemhfw1

Lpsruwdqw Qrwh= Lq doo fdvhv |rx fdq fkrrvh dq| qxpehu wr krog dqg dq| qxpehu
wr sdvv/ exw wkh qxpehu ri wrnhqv |rx krog soxv wkh qxpehu ri wrnhqv |rx sdvv
pxvw htxdo wkh wrwdo qxpehu ri wrnhqv wr glylgh1

Sohdvh ihho iuhh wr xvh |rxu fdofxodwru/ ru rqh surylghg e| wkh h{shulphqwhu/
wr fdofxodwh srlqwv dqg wr dvvxuh wkdw doo ri wkh wrnhqv kdyh ehhq doorfdwhg1
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WKLV H[SHULPHQW�SDUW E

Wklv sduw ri wkh h{shulphqw zloo eh vlplodu wr Sduw D1 Krzhyhu/ wklv wlph
|rx zloo eh suhvhqwhg zlwk d suhghwhuplqhg doorfdwlrq ri wrnhqv ehwzhhq |rx dqg
dqrwkhu shuvrq/ dqg |rxu wdvn zloo eh wr fkrrvh krz pdq| fhqwv hdfk srlqw lv
zruwk1

Khuh duh vrph h{dpsohv1
H{dpsoh=
Glylgh 483 wrnhqv= Krog 433 C 4 srlqw hdfk/ dqg Sdvv 83 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43

Vxssrvh |rx flufohg 431 Wkhq hdfk srlqw |rx dqg wkh rwkhu shuvrq hduq lv
zruwk 43 fhqwv/ dv lw zdv lq Sduw D1 Wkhq |rx zrxog hduq �ff � mf��f ' m�f�ff
dqg wkh rwkhu vxemhfw zrxog hduq Df� mf��f ' mD�ff1

Vxssrvh lqvwhdg wkdw |rx flufohg 81 Wkhq hdfk srlqw |rx dqg wkh rwkhu shuvrq
hduq lv zruwk 8 fhqwv1 Wkhq |rx zrxog hduq �ff � mf�fD ' mD�ff dqg wkh rwkhu
vxemhfw zrxog hduq Df� mf�fD ' m2�Df1
H{dpsoh=
Glylgh 433 wrnhqv= Krog 73 C 4 srlqw hdfk/ dqg Sdvv 93 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43

Vxssrvh |rx flufohg 61 Wkhq hdfk srlqw |rx dqg wkh rwkhu shuvrq hduq lv zruwk
6 fhqwv1 Wkhq |rx zrxog hduq ef � mf�f� ' m��2f dqg wkh rwkhu vxemhfw zrxog
hduq Sf� mf�f� ' m��Hf1

Vxssrvh lqvwhdg wkdw |rx flufohg 31 Wkhq hdfk srlqw |rx dqg wkh rwkhu shuvrq
hduqv lv zruwk 3 fhqwv1 Erwk |rx dqg wkh rwkhu vxemhfw zrxog hduq qrwklqj iurp
wklv glylvlrq1

Lpsruwdqw Wklqjv wr Uhphpehu=

41 Wkh glylvlrq ri wkh wrnhqv lv ghwhuplqhg dkhdg ri wlph/ dqg |rxu rqo| fkrlfh
lv wkh ydoxh ri wkh srlqwv1

51 \rx pd| fkrrvh wr ydoxh srlqwv iurp 3 wr 43 fhqwv hdfk1

61 Zkdwhyhu ydoxh |rx fkrrvh iru hdfk srlqw/ wkdw ydoxh zloo eh wkh vdph iru
erwk |rx dqg wkh rwkhu vxemhfw1
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HDUQLQJ PRQH\ LQ WKLV H[SHULPHQW

\rx zloo eh dvnhg wr pdnh 44 doorfdwlrq ghflvlrqv olnh wkh h{dpsohv zh glv0
fxvvhg lq Sduw D/ dqg 8 ydoxdwlrq ghflvlrqv olnh wkh h{dpsohv glvfxvvhg lq Sduw E1
Zh zloo fdofxodwh |rxu sd|phqwv dv iroorzv=

Diwhu doo |rxu ghflvlrqv irupv kdyh ehhq froohfwhg/ zh zloo vkx"h wkh irupv dqg
udqgrpo| sdlu |rxu irup zlwk wkdw ri dqrwkhu vxemhfw lq wklv h{shulphqw1 Xvlqj d
wdeoh ri udqgrp qxpehuv/ zh zloo vhohfw rqh ri |rxu ghflvlrqv iurp Sduw D wr fduu|
rxw1 Iurp Sduw D |rx zloo wkhq jhw wkh srlqwv |rx doorfdwhg lq wkh ckrog* sruwlrq
ri |rxu ghflvlrq/ dqg wkh rwkhu vxemhfw zloo jhw wkh srlqwv |rx doorfdwhg rq wkh
csdvv* sruwlrq ri |rxu ghflvlrq1 Wkhvh srlqwv zloo eh zruwk 43 fhqwv hdfk1 Qh{w zh
zloo wxuq wr Sduw E dqg djdlq udqgrpo| vhohfw rqh ri |rxu ghflvlrqv lq wklv sduw wr
fduu| rxw1 \rx zloo jhw wkh suhghwhuplqhg srlqwv lq wkh ckrog* sruwlrq/ wkh rwkhu
vxemhfw zloo jhw wkh suhghwhuplqhg srlqwv lq wkh csdvv* sruwlrq/ dqg wkhvh srlqwv
zloo eh ydoxhg iurp 3 wr 43 fhqwv hdfk dffruglqj wr |rxu ghflvlrq1 Wkh hduqlqjv
iurp |rxu ghflvlrqv lq Sduw D dqg E zloo wkhq eh sodfhg lq |rxu hduqlqjv hqyhorsh1

Qh{w |rx zloo eh sdluhg djdlq zlwk d gl�huhqw vxemhfw lq wkh h{shulphqw1 Wklv
wlph zh zloo udqgrpo| fkrrvh rqh ri wkh rwkhu vxemhfw*v ghflvlrqv iurp Sduw D
dqg rqh iurp Sduw E wr fduu| rxw1 \rx zloo hduq wkh srlqwv doorfdwhg lq wkh csdvv*
sruwlrq iurp Sduw D dqg Sduw E/ dqg djdlq wkh srlqwv lq Sduw E zloo eh ydoxhg
dffruglqj wr wkh rwkhu sod|hu*v ghflvlrq1 \rxu hduqlqjv iurp wklv sdlulqj zloo dovr
eh sodfhg lq |rxu hduqlqjv hqyhorsh11

Wkh prqlwru fkrvhq dw wkh ehjlqqlqj ri wkh h{shulphqw zloo yhuli| wkdw wkhvh
surfhgxuhv duh iroorzhg1

Diwhu doo wkh fdofxodwlrqv kdyh ehhq pdgh/ dqrwkhu h{shulphqwhu zkr zdv qrw
lqyroyhg lq wkh h{shulphqw xqwlo wklv wlph zloo dvn |rx wr eulqj xs |rxu fodlp fkhfn
dqg zloo kdqg |rx |rxu hduqlqjv hqyhorsh1 Wklv zloo djdlq khos wr jxdudqwhh |rxu
sulydf|1

Rq wkh iroorzlqj sdjhv duh wkh fkrlfhv zh zrxog olnh |rx wr pdnh iru Sduw D
dqg Sduw E1 Sohdvh �oo rxw wkh irup/ wdnlqj wkh wlph |rx qhhg wr eh dffxudwh1
Zkhq doo vxemhfwv duh grqh zh zloo froohfw wkh irupv1

Wkdqn |rx yhu| pxfk1 Jrrg oxfn$
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Fodlp Fkhfn Qxpehu

GHFLVLRQ VKHHW � SDUW D

Gluhfwlrqv= Sohdvh �oo lq doo wkh eodqnv ehorz1 Pdnh vxuh wkh qxpehu ri wrnhqv
olvwhg xqghu Krog soxv wkh qxpehu olvwhg xqghu Sdvv htxdov wkh wrwdo qxpehu ri
wrnhqv dydlodeoh1 Uhphpehu/ doo srlqwv duh zruwk '3143 wr doo vxemhfwv1

41 Glylgh :8 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 5 srlqwv hdfk1

51 Glylgh 73 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 6 srlqwv hdfk1

61 Glylgh :8 wrnhqv= Krog C 5 srlqwv hdfk/ dqg Sdvv C 4 srlqwv hdfk1

71 Glylgh 93 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 5 srlqwv hdfk1

81 Glylgh 73 wrnhqv= Krog C 6 srlqwv hdfk/ dqg Sdvv C 4 srlqw hdfk1

91 Glylgh 93 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 4 srlqw hdfk1

:1 Glylgh 433 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 4 srlqw hdfk1

;1 Glylgh 93 wrnhqv= Krog C 5 srlqwv hdfk/ dqg Sdvv C 4 srlqw hdfk1

<1 Glylgh ;3 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 4 srlqw hdfk1

431 Glylgh 73 wrnhqv= Krog C 7 srlqwv hdfk/ dqg Sdvv C 4 srlqw hdfk1

441 Glylgh 73 wrnhqv= Krog C 4 srlqw hdfk/ dqg Sdvv C 7 srlqwv hdfk1
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Fodlp Fkhfn Qxpehu

GHFLVLRQ VKHHW � SDUW E

Gluhfwlrqv= Iru hdfk doorfdwlrq/ sohdvh lqglfdwh krz pdq| fhqwv |rx zrxog olnh
hdfk srlqw wr eh zruwk zkhq fdofxodwlqj |rxu sd|r� dqg wkh rwkhu vxemhfw*v sd|r�
iurp wklv sduw ri wkh h{shulphqw1

41 Glylgh 473 wrnhqv= Krog 43 C 4 srlqw hdfk/ dqg Sdvv 463 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43

51 Glylgh 463 wrnhqv= Krog 53 C 4 srlqw hdfk/ dqg Sdvv 443 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43

61 Glylgh 433 wrnhqv= Krog 83 C 4 srlqw hdfk/ dqg Sdvv 83 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43

71 Glylgh 463 wrnhqv= Krog 443 C 4 srlqw hdfk/ dqg Sdvv 53 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43

81 Glylgh 473 wrnhqv= Krog 463 C 4 srlqw hdfk/ dqg Sdvv 43 C 4 srlqw hdfk1
Krz pdq| fhqwv vkrxog hdfk srlqw eh zruwkB +flufoh rqh, 3 4 5 6 7 8 9 : ; < 43
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